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Time : 3 hours ] ' o : [ Maximum Marks : 75
e : (i) |t Y @ wd Wi
Note : Attempt all questions. |
(i) W U 8 | 17 9% & T¥Al ¥ Nals fawey fag wmy ¥
Internal options are given in Question Nos. 8 to 17.
Fréor : (31) WE S 1 IS v ¥ 1 T AR wve ) wve () 3§

TRfawed v, @ve (F) ¥ fea =m 9 i ety o
g () A A 9 Tl TH I TS @ W 5 ¥ €
YT Telh W9 T 1 3f AEfed B

Instruction : (A) Question No. 1 is an objective type question. It has three
sections. In Section (A) Multiple choice questions, in
Section (B) Fill in the blanks and in Section ((;) Match the
following are given. Each section has 5 questions. Each

question carries | mark.
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(@ue-37) wel fawew g fafay .

(Section-A) Choose and write the correct option

(1)

A=A F I © , |
(3) ¥R

(F) §FIH

(®) IAfEdd &

(3) ok GO R

Totipotency is related to :

(a) selection

(b) hybridization

(¢) mutation

(d) tissue culture

SR FH AWl TH T -

(37) Mg dag

() IE9A geraq

(@) Hfagioq silag

(%) F979 o

Botanical name of Arhar is :
(@) Glycine max

(b) Pisum sativum

(¢c) Phaseolus aureus

(d) Cajanus cajan

(iif) T4 ¥ JHEL } H&AI B: TA € ¢

(&) wrgfE

() FEH

() Heag!

(3) |

Six stamens are found in flower of :
(@) Leguminoceae

(6) Cruciferae

(¢) Malvaceae

(d) Solanaceae

[1x5=5]
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(iv) ﬂfmﬁ—mﬁﬁ‘qﬂﬁﬂﬁqmaﬂﬁ ATP & frfor v 2 -
(37) 32 (¥ 34
(&) 36 (?) 38
ATP produced by aerobic respiration from one molecule of
glucose is :
(a) 32 (6) 34
(c) 36 (d) 38
(v) Ry g7 6 R o A gfg s s
(31 Hifed
() wRA+RfA
(7)) e
(3) fa=aifam
Plant hormone is increased the length of plants :
(a) Auxin
(b) Cytokinin
(¢) Ethylene
(d) Gibberrellin
-1 (@us-7) fiwa wrl w5 o Fifee [1x5=5]
(Section-B) Fill in the blanks :
() %A FA F IRy
Gudahal is plant of family.
(i) AUSA A AT wam & fog 4 = e e
Mendel chose ____plant in his expcriments.
(i) fafr=ra & THERE |
Variation is of types.
(iv) =t M HFR
Order of wasp insect is
(v) WR& g TUg A ¥
section in head of insect.
M-66 B P.T.O.
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(4]
WA-1 (@Ue-W) ¥l WS TR - [1x5=5]
(%) C(@)
() e GehrEie (37) NH,CONH,
(1) WTHE I (@) C,H;0.0C.CH;
(iff) WISt (€ CH,;OH
(iv) It () CeHia06
(v) Ut iz () H,S80,
(Section-C) Match the following :
(A) (B)
(7). Methyl alcohol (a) NH,CONH,
(if) Sulphuric acid (b) C,H,0.0C.CH,
(iif)y Fructose (c) CH,OH
(iv) Urea (d) CgH, ,0¢
(v) Ethyl acetate (e) H,S0,
fadr : () 9 w2 ¥ 7 9% sfaergenda WA T TS T\ W

2 3 Efed § 1 (SW H stfuwhad T=K-991 30 I 7)

Instruction : (B) Question Nos. 2 to 7 are very short answer type question.
Each question carries 2 marks. (Maximum word-limit of
answer is 30 words) | |

WeA-2  EW&ig f9u S T IR0 S gHEie | [1+1=2]
Explain contact poison with one example.

W-3 TS g9 S w7 9L § ) et Wiy Iw e 2]
Calculate the circumference of a circle whose radius is 7 cm.

WyA-4  Georal & v fafae) - - 2]
Define linkage.

UA-5 ST AT ? (2]
What is molecular formula?

UYT-6 WGl 1 W g A PV 2]
Write the equation of photosynthesis.

wyt-7  IqHNA Ft gfowrn fafaa) (21
Define Titration. '
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c (W) 9 w8 W 12 T oRedd v ¥ WaAE T W
4ai$a1ﬁﬁﬁ%l(m$?af‘uaﬁ[qm-m 75 I ¥)

Instruction : (C) Question Nos. 8 to 12 are short answer type questions.

Each question carries 4 marks. (Maximum word-limit of
answer is 75 words)

WyA-8 119 AR § Sge 91 I ; [4]
T 0-10-| 10-20 | 20-30 | 30-40 40-50
Ele o)l 2 10 8 7 3
Calculate the mode from the following table :
Class 0-10 | 10-20 | 20-30 | 30-40 | 40-50
Frequency 2 10 8 7 3
HIqT/ OR
o areit | witaet @ wifs
ot 0-20 | 20-40 | 40-60 |- 60-80 | 80-100
smgfa 2 7 0 | 3 3
Calculate the median from the following table :
Class | 0-20 | 20-40 | 40-60 | 60-80 | 80-100
Frequency 2 7 0 .| 3 3
YF-9 TUHW-GTENT H WWifEd 0 o S5 9K 9R1 FRA B §EY o
FAARY | hitp://www.cgboardonline.com (4]
Explaln any four external factors affecting to photosynthesm in brief.
3rerar/ OR
Wwaﬁwmﬁamﬁaﬁaﬁﬁmwﬂmﬁﬁﬂmﬁml
Explain any four external factors affecting to aerobic respiration in brief.
W-10 W N & Fofafaa ol @ smwifira 99 9IRC : _ [1x4=4]
(3) T8 TG (@) T |
(®) g . - (7) wmm
M-66 B ‘PT.0.
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Draw a diagram with labelled of following parts of pea plant :

(a) Calyx (b) Corolla
(¢) Androecijum (d) Gynoecium
3qr OR
TR % [ ST T O g g Feafn | [2+2=4)

Draw the floral diagram and write the floral formula of solanum nigrum.

u¥1-11 aﬁmgm.zx.s.sa;rmmms%,?ﬂquﬁmﬁﬁ'll [4]

A data contains 4, 7, x. 6. 8 whose arithmetic mean is 6, then calculate
the value of x.
HYqr/” OR
Frafafaa sl ¥ g 3@ 9w -
64. 54, 59. 67, 70, 72. 73. 78, 83, 90

Calculate the median from following data :

64. 54. 59, 67, 70, 72, 73, 78, 83, 90

WET-12 Y & T fafee (9 90 | [1x4=4]
Write the properties of light (any four).
- ET/OR -
PR 99 At HE IR fadeard fafaw)

Write any four characteristics of petrol engine. .

ﬁé‘w : () Y FHF 13 W 14 TR ¥ €1 T@E T\ W
5 3% Efed €1 (IW F Afuwam w=-dm 150 w= ¥)

Instruction : (D) Question Nos. 13 and 14 are short answer type questions.
Each question carries 5 marks. (Maximum word-limit of '

answer is /50 words)

w-13 TR 9 faega fefen o s Rt 19 A @ sl o ael gt [3
Describe any five common devices used in domestic electric fittings I
in brief. ‘_
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17]
3erqr, OR

feoaforar fafay - [2%+2Y4=5]
(37) faga =it (%) fage v
Write notes on :
(a) Electric Iron (b) Electric Heater
ﬁgmruﬁﬁmﬁaw%mﬁamﬁwimmaﬁﬁq: [5]

T 0-10 10-20 | 20-30 30-40 40-50

AR 5 8 15 16 6

Calculate the coefficient of mean deviation from median in the

following table :

Class 0-10 | 10-20 | 20-30 | 30-40 | 40-50
Frequency 5 8 15 16 6
37ear/ OR
T wroit | A fauem 9w wife
i . 0-5 | 5-10 | 10-15 | 15-20 | 20-25
ATCARAT 6 10 12 10 8

Calculate the standard deviation from the following table :

Class 0-5 5-10 | 10-15 | 15-20 | 20-25

Frequency 6 10 12 10 8

: (3) ¥ FEF 15 § 17 aF qdSA0d ¥ T ¥AF T W
6 3i SqEfed & | (I FI AUFAT YK-THA1 250 1= ¥)

Instruction : (E) Question Nos. 15 to 17 are long answer type questions.

WeA-15

Each question carries 6 marks. (Maximum word-limit of

answer is 250 words)

frafa weme faega Aa = v e @ fafy faf@w) [3+3=6]

Write the structure and function of vacuum photoelectric cell.
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3re7ar / OR
Ty ety | &t GG U wr fafy fafgu

Write the structure and function of photo-voltaic cell.

TyT-16 mmwwﬁmmﬁ-@ﬁlﬁ;wmwl (6]
Classify enzymes with one example -each.
34qr/ OR
AepIgict T TR Th-Toh IV 2H FIfC |

Classify alcohol with one example each.

U-17  H w1 i wew fafay (@ @ ey w@ b | [1%6=6] -
Write the economic importance of insects (any fhree advantages and |
disadvantages).

ar/ OR
HyATEt 1 S wee fafan) (61

Write the economic importance of Honey-bee.
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